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1.  (A) Whatis demand ? Explain the law of demand.

OR

Give meaning of demand. Discuss determinants of demand.

(B) Multiple Choice Questions :

(1)
2)

3)
4

The slope of demand curve is negative. (True, False)

Change in demand due to change in the price of a commodity is called
(Price effect, Income effect, Substitution effect)

Giffin commodity violates the law of demand. (True, False)

How is the nature of law of demand ? (conditional, hypothetical, moral)

supply.

(1
)

2. (A) Give meaning of supply. Explain the law of supply with the help of example.
OR
Explain with illustration the expansion — contraction and increase-decrease of
(B) Multiple Choice Questions :
The slope of supply curveis . (positive, negative, parallel to X-axis)
Other factors remaining constant, increase in price leads to in
supply. (increase, decrease)

)
(4)
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If supply curve shifts to the right, it shows increase in supply. (True, False)
How is the relation between the price of a commodity and the supply of it ?

(Direct, Inverse, Zero)
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3. (A) Explain meaning of market. Describe the characteristics of market. 14

(B)

OR

Give definition of market and discuss the functions of market.

Multiple Choice Questions : 3
(1) Market as understood in Economics, is not related to
(place, time, price)

(2) The classification of market into retail market and wholesale market is done
in the context of quantity. (True, False)

(3) Transaction takes place only when the consumers and traders agree to a
(price, quality, utility usefulness)

4.  (A) Whatis money ? Discuss main functions of money. 14

(B)
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OR

How does money come into existence ? Trace the evolution of money.

Multiple Choice Questions : 3

(1) “Money is what money does.” — this definition of money is given by
(Prof. Sidwick, Prof. Crowther, Prof. Marshall)

(2) The relation between price level and value of money is inverse.
(True, False)

(3) Bank money is also known as . (credit money, legal tender currency)
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1.  (A) Discuss the causes of high rate of growth of population in India. 14
OR
Explain : (any two)
(1) Infant mortality rate in India.
(2) Literacy rate in India.
(3) Density of Population in India.

(B) Multiple Choice Questions : 4
(1) Inthe year 2011, the birth rate was in India. (20.9, 30.9, 40.9)
(2) India stands second in the World with reference to population census of
2001. (Tue, False)
(3) In India, people strongly desire to have a son. (True, False)
(4) In 2011, literacy rate in India was . (74.04%, 84.04%., 94.04%)
2. (A) “India as a Developing Economy.” — Discuss. 14
OR

(1) Explain the causes of income inequality in India.

(2) Give the causes of unemployment in India and discuss the measures under
taken to remove the unemployment.

(B) Multiple Choice Questions : 4

(1)  Under developed countries are considered third World countries.
(True, False)
(2) Inflation means consistent rise in prices of all commodities. (True, False)

(3)  Which law is in the place of control private monopoly in India ?
(MRTP Act, I[IM Act, IIT Act)

(4) Unemployment in India means unemployment.

(voluntary, involuntary, disguised)
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Describe the shares of Agriculture, Industry and Service Sectors in generating
employment in India during the planning period. 14

OR

Discuss the economic policy in India after 1991.

Multiple Choice Questions : 3
(1) There are components of economic reforms. (three, four, five)

(2) Which policy has been adopted for the growth of private sector in the
Industrial policy of 1991 ?

(Liberalization, Globalization, Governmentalisation)

(3) Manufacturing sector is included in secondary sector. (True, False)
Discuss the advantages and disadvantages of “Green-Revolution”. 14
OR

Give the causes of low productivity in Indian agriculture and explain measures to
improve productivity in Indian agriculture.
Multiple Choice Questions : 3
(1)  Who was the promoter of Green Revolution ?

(Dr. Edmand Florence, Prof. Keynes, Prof. Marshall)

(2)  Per hectore productivity was highest in crop during the period
of economic planning. (rice, maize, wheat)

(3) There are two main types of Indian agricultural crops that are grains and
cash crops. (True, False)




